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TRUONG DAl HOC VAN LANG
PON VI: KHOA NGOAI NGU

DE THI VA PAP AN
THI KET THUC HQC PHAN
Hoc ky 2, nam hoc 2023-2024

I. Thong tin chung

Tén hoc phan: | Tiéng Anh 4
M4 hoc phan: | 7LCLAN30053 S6 tin chi: | 03
Ma nhém 16p hoc phan: | 232_71CLAN30053_01,02
Hinh thic thi: Tric nghiém két hop Tw luan Thoi gian 1am bai: | 60 | phut
Thi sinh dwec tham khdo tai li¢u: [1Co Khéng
I1. Céc yéu cau caa dé thi nham dap ing CLO
, ] Lay dir
Ky Hinh Trongso CLO Cau | biem | li¢u do
hiéu Noi dung CLO thic trong thanh phan | héi | so lwong
CLO danh gia danh gia (%) thi s6 | toi da | mirc dat
PLO/PI
1) 2) 3) (4) ®) | (6) ()
Van dung cac tu
vung va cau tric )
ngtr phap co ban dé Trac
CLO1 | miéutacéacsuvat, | nghiém & 50% 1-30 5.0 Pl12.1
su vigc thuge cac Tu luan
chu dé thong dung
trong cudc song.
Phan Ipai chinh xac
cac diém ngit phap Tréc
co ban théng qua A
CLO2 bai thuc hanh nghI?rrl & 50% 31-40| 5.0 Pl 2.1
néi/viét va cacbai | TW Iuan
kiém tra ngbn ngi.

I11. N§i dung céu héi thi:

PHAN TRAC NGHIEM (30 cau - 0.25 diém/ cau)

Part 1: Choose the best answer for each question. (10 questions — 0.25 mark/ question)

Measures must be taken to stop nuclear waste being at sea.
A. dumped

B. left

C. dropped
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D. stored
ANSWER: A

If | had attended the party last night, | able to go to work today.
A. wouldn’t be

B. am not

C. wouldn't have been

D. won’t be

ANSWER: A

Her parents insisted that she until she her degree.
A. stay / finished

B. would stay / finished

C. stayed / had finished

D. stayed / finished

ANSWER: A

We be going to France this summer, but we're not sure yet.
A. might

B. must

C. would

D. can

ANSWER: A

anything else, please ring the bell for the attendant.
A. Should you require
B. You should require
C. If you are requiring
D. Were you to require
ANSWER: A

We are going to build a fence around the field with (a)n to
breeding sheep and cattle.

A. view

B. goal

C. reason

D. outlook

ANSWER: A

He told his sister that he to run away from home.
A. intended

B. is intending

C. has intended

D. intends

ANSWER: A

Water pollution is often caused by industrial from factories.
A. waste
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B. fuels

C. gases

D. rain
ANSWER: A

The marathon was postponed the heavy rain.
A. due to

B. because

C. despite

D. when

ANSWER: A

The stones been buried in the sand for a thousand years.
A. have

B. has

C. having

D.is

ANSWER: A

Part 2: Choose the best answer for each question. (10 questions — 0.25 mark/ question)
This summer, my sister Clare 1 married to her Japanese boyfriend, Akira. She
lives in the city of Nagasaki, on the island of Kyushu, and so all my family 2 out
there to the wedding. There aren’t going to be 3 guests because it’s expensive to
fly to Japan. They want to have a 4 wedding with the 5 on a beach,
because my sister wants to wear a white wedding dress. However, in a traditional Japanese
wedding the 6 wears a beautiful kimono. I’m a little worried about the 7

though. I’m not very keen 8 Japanese food because I don’t like fish
or rice! But my sister says Japanese food is very 9 ! And I hope they don’t have
karaoke after the wedding, because my sister sings really 10 !

Blank 1

A. is getting
B. getting

C. gets

D. to get
ANSWER: A

Blank 2

A. are travelling
B. travel

C. travels

D. travelling
ANSWER: A

Blank 3
A. many
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B. any

C. much

D. some
ANSWER: A

Blank 4

A. modern

B. hard

C. interesting
D. boring
ANSWER: A

Blank 5
A. ceremony
B. costume

C. engagement

D. election
ANSWER: A

Blank 6

A. bride

B. groom

C. nephew
D. niece
ANSWER: A

Blank 7

A. reception
B. canteen

C. diet

D. venue
ANSWER: A

Blank 8
A.on
B. in
C. of
D. at

Blank 9

A. healthy

B. fattening
C. processed
D. sweet
ANSWER: A

Trang 4/9

BM-003



BM-003

Blank 10

A. badly

B. beautifully
C. carefully
D. well
ANSWER: A

Part 3: Read the passage and choose the correct answers. (5 questions — 0.25 mark/
guestion)

The filming and photography in news programmes is very important in bringing the stories
to life and making us realise how events affect people. But the traditional techniques of
filming are slowly changing and not everyone is happy with this.

Viewers have recently complained that camerawork on news programmes, while very
artistic and clever, is more suited to feature films and documentaries. Apparently, many of
us are distracted by clever camerawork and our attention is taken away from the real focus,
which is the story.

Several techniques have been criticised. One of these is the ‘circling camera’. This is when
the cameraman goes round the person who is talking so that at one point, we see the back of
his head. Another technique is when the camera is not held steadily and shakes. It gives the
impression of slight panic and is often used in films today.

The BBC insists that camerawork like this is a sign of artistic and technological progress
and is interesting and attractive, particularly to a younger audience. But how appropriate is
it to have a circling camera when reporting on something as ordinary as interest rates?

Pictures are important in the news because
A. they help us understand the story.

B. it’s traditional to have them.

C. they show us important places.

D. they show the stories.

ANSWER: A

Some people today complain that
A. the filming is distracting.

B. the filming is boring.

C. the filming isn’t very good.
D. the filming is good.
ANSWER: A

One modern filming technique is
A. the camera moves in a circle.
B. there is a circle of cameras.
C. when people stand in a circle.
D. the camera moves around.
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ANSWER: A

The television company

A. thinks it’s okay to film this way.

B. promises to change the way news is filmed.
C. has apologised.

D. thinks it’s normal.

ANSWER: A

What is the writer’s attitude?

A. He thinks the filming should suit the subject.

B. He likes artistic camerawork.

C. He thinks there should be more filming with news stories.
D. He doesn’t like filming.

ANSWER: A

Part 4: Read the passage and choose the correct answers. (5 questions — 0.25 mark/
guestion)

How many tablets do you take? We all take tablets for headaches and other illnesses. But
are they necessary the big drug companies make the drugs and tablets that we buy to fight
our health problems. But could it be possible that many of these drugs and tablets are only
good for the bank balances of the drug companies and that there are better ways for us to get
over our health problems? According to some experts we should use the power of our
minds.

Since the 1950s there have been experiments using placebos. Placebos are tablets which do
not have an effect on the body, so they shouldn’t be able to make us better. In the
experiments some patients in the group receive real drugs for a health problem, while others
receive the placebo. No one knows who has the real drug or who has the placebo. In a
significant number of these experiments the patients who haven’t received the real drug get
better! People think this is perhaps because they are thinking positively and believe they
will get better — so they do!

So, can we ‘think’ ourselves better? Perhaps the big drugs companies should start worrying!

The text suggests that drug companies
A. make a lot of money.

B. sell drugs that are too expensive.
C. sell drugs that are bad for us.

D. sell drugs that are good for us.
ANSWER: A

It’s possible that

A. we could manage without drugs.

B. we could live longer without drugs.
C. we need different sorts of drugs.
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D. we need similar kinds of drugs.
ANSWER: A

Placebos

A. should not be able to cure health problems.
B. are experiments done since the 1950s.

C. are tablets for headaches.

D. should be the best choice.

ANSWER: A

In the experiments,

A. patients know it’s a possibility they haven’t received the real drug.
B. patients know if they don’t receive the real drug.

C. patients know they have been lied to.

D. patients know they will be better.

ANSWER: A

According to the article

A. some people can get better if they believe they will.

B. some people get better if their doctor believes they will.
C. some people get better because they stop taking drugs.
D. some people get better after they take drugs.
ANSWER: A

PHAN TU LUAN (10 cau - 0.25 diém/ cau)
Part 5: Rewrite the sentences. (10 questions — 0.25 mark/ question)

Cau héi 1: (0.25 diém)
The restaurant on Oxford Road serves excellent food. | used to work there. (where)

Cau héi 2: (0.25 diém)
Mr and Mrs Brown live next door to us. Their daughter is a pop star. (whose)

Cau héi 3: (0.25 diém)
I’ve got a really bad headache today because I did so much work on the computer last night.
I ST S RSP :

Cau héi 4: (0.25 diém)
She can’t go to the party because she has a broken leg.
TP URURUPPRS :

Trang 7/9



BM-003

Cau héi 5: (0.25 diém)
We can’t buy a house because the prices have gone up too much.
TP PP P URTPRUPPRIS :

Cau héi 6: (0.25 diém)
‘I can assure you that I won’t be late for the appointment.’ (promise)
H B e .

Cau héi 7: (0.25 diém)
‘I think the result will be 3—4 to Southampton.’ (predict)
] £ TS ST T TP TS UPPRPRPRPRPRPRN .

Cau héi 8: (0.25 diém)
‘I’m sorry, but the service I received was just not good enough.” (complain)
HE .

Cau héi 9: (0.25 diém)
The committee is discussing the issue at the moment. (passive)

Cau héi 10: (0.25 diém)
People have seen some unusual wild birds this winter. (passive)

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi | Ndi dung dép an Thang diém | Ghi chi
|. Triac nghiém 75
Part 1 ANSWER: A 2.5
Caul-10
Part 2 ANSWER: A 2.5
Caul-10
Part 3 ANSWER: A 1.25
Caul-5
Part 4 ANSWER: A 1.25
Caul-5
Il. Tw luin 2.5
Part 5
Cau 1l The restaurant on Oxford Road, 0.25
where | used to work, serves
excellent food.
Céu 2 Mr and Mrs Brown, whose daughter 0.25
Is a pop star, live next door to us.
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Cau 3 If I hadn’t done so much work on 0.25
the computer last night, [ wouldn’t
have a really bad headache today.

Cau 4 If she didn’t have a broken leg, she 0.25
could go to the party.

Caubs If the prices hadn’t gone up so 0.25
much, we would be able to buy a
house.

Cau 6 He promised that he wouldn’t be 0.25
late for the meeting. / He promised
not to be late for the meeting.

Cau7 She predicted that the result would 0.25
be 3-4 to Southampton.

Cau 8 He complained that the service (he 0.25
had received) wasn’t good enough.

Cau9 The issue is being discussed at the 0.25
moment by the committee.

Céu 10 Some unusual wild birds have been 0.25
seen this winter,

Piém tong 10.0

Trwéng bo mon

TP. Ho Chi Minh, ngay 11 thang 3 nam 2024

=

TS. Mai Thu Hoai
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